11 XK

=
=2



(3) EFRBEBREEEOREMR (hEel)

1.2
1.0
0.8 B (RAERE - DX b Lo
[ ] = ®
e S )

0.6 ) j‘% d = [ ) o
= . gy | P BAR
0 S @ s s IEEH N bt

4 4 H<xe @ s Rl
e —*° S
0.2 FEY S TE @ ° O gt @ TSR
L ZE N L S
sl @ THEEEDRS

;5 0.0 P p—— @ EEEEi
4+ 0.2 @ [tk @ I - BlRBH
)52 @ HVEOREEBM
/04

-0.6 [ ﬁ%i;ri%ﬂtzoo)

-0.8

0.5 0.6 0.7 0.8 0.9 1.0 1.1 1.2 1.3 1.4 1.5 1.6
BESEE ———> =




(3) ERRBEBREREDORMR (HH - 5. BERA)

1.2
1.0
® zaEny oo tRE
| )
0.8 e -
"X @
PR

0.6 Hﬁi&ﬁt’%ﬁﬁﬁ it

= ST S LT [ﬂiEE%%@EFiSJ 0.287
o Ha bk

0.4 HEEST

0.2
75 0.0
55
£ 02
el
% -0.4 [ BREEET191.200 }

-0.6 .

-0.8

0.5 0.6 0.7 0.8 0.9 1.0 1.1 1.2 1.3 14 1.5 1.6 1.7 1.8 1.9
BREEE ————— > =




